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Max. Marks: 80Tirne: 3 hrs.

Note: Answer any FIVEfull queifions, choositrg onefullquestionfiom euch module.

Module-l
I a. Explain the scope of.managem.nt ,tr ning ferv functional area of management.

b. Explain different tlpes of managerial skills.
c. Compare'rna,na.gement' with'administration'.

OR..'.'.,.
2 a. Mentip',ning the importance of planning, explain the steps involved in the planning process.

(06 Nlarks) .

b. Explain a typical decision making process in a medium scale organization. ios uo.l*..i
t,-,-t)istinguish between standing plans and single use plans in an organization. (05Marks)

Nlodule-2
Explain :

i) purpose of organization
ii) process of organizing. (06 N{arks)
Describe the process of staffing adding note on the benefits of good staffing. (05 Marks)
Explain staff recruitment and selection process with reference to a iarge scale organization.

(05 Marks)

OR
4 a. Explain any two 'MOTIVATION' theories as applicable tc an organization. (06 Marks)

b. What is communication? Discuss the purpose of cornrnunication. (05 Marks)
c. Explain the essentials of an effective control systern. (05 Nlarks)

ii) Business ethics. (06 Nrarks)
b. Describe the social responsibilitie's of:businessmen towards different groups in a society.

(05 Marks)
c. Explain:

i) Corporate governance
ii) Myths of entrepreneLrrship. (05 Marks)

,

OR
6 a" Discuss how entrepreneurs are classified. (06 Marks)

b. What are the frroblems faced by entrepreneurs? How to overcome them? (05 Marks)
c. Explain rvhat is mean b5,capacity building for entrepreneurship and entrepreneurial

de';eispment cycle. (05 Marks)
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Module-4
a. Define small scale industry, ancillary indus-y and riny industry. Trace the growth and

performance of smallscale industries in India Curing the last few decades. (06 Marks)b. Explain:
i) WTO versus smallscale industries lndia
ii) overcoming sickness in small scale incjustrial setup. (06 Marks)c' Explain how small scale industries can contribute to economic developments. (04 Marks)

.i 0R
8 a' Explain policies and schernes of any two central level institutions fonned for the support of

srnall and rnedium sizecl business enterprises. (08.\farks)b' Explain policies anci schemes of any two state level institutions formed to support the
acti'ities of s:-nallsnile indu.trial sector. (08 Marks)

Module-5
a. Explain a l,Jerv Product planning and Development process.
b. Describe:

i) Project cyc le
ii) Project leasibility analysis

c. Write notes on project identification.

', OR
10 a. Explain the importance of network analysis.

b. Discuss the different steps involved in pERT analysis.
c. Compare PERT with CpM, list the advantages oflach.

*:f*t{.

(06 NIarks)

(06 NIarks)
(0,t Marks)

(05 l\Iarks)
(05 i\tarks)
(06 Marks)
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Time: 3 hrs. Max. Marks: 80

Note: Answer on! FIVE full questions, choosing one fult questionfrom each module.

(04 Marks)
(04 Marks)

A code is composed oidots and dashes. Assumingadash is 3 times as Iong as ador and 6as
o ne-th ird the,probab i I ity of occ r-rrren ce. C alc u I ate :

i) The infi;r,rration in a dot and a dash.
ii) T'he entropy of dot-dash code.
iii) iiie average rate of information if a dot lasts for l0rrili seconds and the same time is

alicwed between symbols. (08 N{arks)

OR
3. Derive an expression I'or the entrop) oln'h extcnsion ola zcro lnernory source. (06 IIarks)
b. "l-he first order Markoff model shorvn in Fig.Q.2(b). Find rhe srate probabilitics, er'lri-oi-,),of

each state and entropy of the source. (i0 i\{arks)

- c's

0.2

g s\

Fig.Q.2(b)

Fifth Semester B.E. Degree Exanrixlation, June/July 20lg
lnformation TheorSr,,bnd Goding

f Modutc- I
With neht sketch, explain the block di"g*, 

"f "n 
inforrnation system.

Define entropy. Sta.te various properlies of the entropy.

Module-2 .'"r
Apply Shannon's binary encoding algorithm to rhe t'cilo

b. with an illLrstrative exarnple. explain arirhrnetic coding teclrniqr-re.

3a. algorithm to the t'Cilorving set of symbols given in table
below. AIso obtain code efficie (08 Marks)

lr'i
b"

Fano code for source S and is ZT..e*teniion. Calculate efficiencies for each case. Comment
on the result. (08 Marks)

OR
I a. Consider a source with 8 aiphabets A to H rvith respecrive probabilities of 0.22, 020,01g,

015,0.10,0.08,0.05 arr.i 0.02. Construct [-lirffman's cocle and determine its efflciencv.
(10 Marks)
(06 Marks)
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)Iod u le-35 a" Deflne: i) Input entropy ii) oLrrput entropv iii) Eqr:i'ocation ivl Jointv) MLrtllal inforrnation with the aid olrespect;u. .qrrtionr.b' In a cor,munication system, a transmi.ftei 1ar: i.,*iri,"u"rs A = {a1, a:, a:}also has 3 outputs-vrnbors B = {b,, b:, b:}.r'he r-nairix given ueto* shorvs JpN,r.
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entropy and
(04 Marks)

and receiver
(08 Marks)

? l',7

C.

ii) F,nc pihl una o[g-r-.j
Iu, ,] [u,)

A rrln:]'lltter has 5 symbols with probabilities 0.2, 0.3,0.2,0.1

Find missing probabilities (,r) in table.

n:alrix P(BIA) as shown below, caiculate H(B) and H(^., Bi

P(Bi A) =

1000
1t4 3/4 0 0

01/3 2/3 o

00U32t3
00tb

5C,.
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Fig.Q.6(c)

1 ^a )Z UI )

Fig.e.s(c)

oR..
A Gaussian channel has a l0MHz bandwidth. If (Sn{) rario'isl00, calculate the channelcapacity and the maximum information rate. ' -'': ,".- 

(04 Marks)

A binary svmmetric channer has channer rnar,r-i1 orr,*r=ll,,l ,r:^lwith 
source

probabilities of P(X,) = 2 un,j p(X, ; = 1. '.'

33
i). Determine H(X), H(y), H(yiX) and H(X, y).
ii) Find the channel capacity.
Find the channer .rpr.i,ylrJ'e cha,n.'r shown in Fig.e.6(c) using Muroga,s ,r.,#1.'"ut'

o,B (06 Marks)

and 0.2. Given the channel
(04 NIarks)

6a.

b.
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Module-4
7 a. Distinguish betu'een "block codes" and "convolution cocies:'.

code l'ectors.

code tree.
b. Describe the Viterbi decoding algorithrn.

b. Forasvstematic(6.3)linearblockcode,theparit-,,narrix,r r=[ ? ll ,rrall possible

l, , ol

l5EC54

(02 Marks)

(08 NIarks)

(06 Marks)

(04 Marks)

(10 Marks)
(06 Marks)

c. The parity check hits of a (8. -l I Lrlock code are -eenerated b) ., : dr + d, + dr.

co=dr + dz+d:. c;: dr + d:+d.ranc! cs:d3+d:+da rvheredt' d:. d:andd.r are message

bits. Find the generator matrix anri parity check tnatrix lor this code.

OR
8 a. A (7, 4) cyclic code has thc generator polynomial g(x) : 1 + x + ,''. Fird the code vectors

both in systematic and nonsystematic form forthe message bits (1001) and (1101).1t2 NIarks)

b. Considera(15. ll)clcliccodegeneratedbl,g(x)= 1*x'r.xr. Deviceafeed backshift
register encoCer lii'crr it.

Module-5
(06 Ilarks)9 a. Write a ncie on BCH codes.

b. Consiclerit"l:, 1.2)convolutionalencoderrvithg(r)=(1 l0),-q't):(101)andg(r):(lll)'
i,i Draw the encoder diagram"
ii) Find the generator matrix.
iii) Find the code rvord for the message sequence (l I l0l ).

OR
i0 a. For a (2, 1, 3) convolutional encoder rvith g(r): (1101), g(') = (l0ll), dra',r' the encoder
' diagram and code tree. Find the encoded output forthe message (lll0l) t;1 lraversing the

(10ll;rr-ks)
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Time:3 hrs.

OR
of operating system with primary

15ECss3

Max. Marks: 80

(08 Marks)
(08 Ntarks)

concern and key
(08 N,larks)
(08 fi!arks)

Fifth Semester B.E. Degree Exarnination, June/July 20rg
Operatin:g System
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Note: Answer any FIVE full questions, choosing
ONE full question from each module.

Givethefacetsof,userconvenien."ffiingsystem.
what are the comr-'ncn tasks performed by operatin:g system? Explain.

2 a. Explain briefly the different classes
coltcepts.

b,'.'-\Viih a neat figuie explain the turnaround time in batch processing system.

, ! Module-2

-

3 a. what are fundamental process states, with a state transition
transitions for a process.

b. Explain the different fields of the process conrrol Block (pcB).

diagram e;",plain the state
(08 Marks)
(08 Marks)

of paging
(08 N'larks)

Using
(08 Nlarks)

. ' :.\
OR 'i::-".,: '

What are the advantages of threads over process? Explain [erhel level threads. (08 Marks)
For the following set of process perform FCFS andiSkrrr scheduling to calculate mean
turnaround time and mean weighted turnaround. . ..i,,

5a"
b"

Process Pr Dt2 P: Pa Ps

Admission time 0 a
a, J 4 8

Service time J J 5 2 J

(08 Marks)

Cive the comparison betueeri contiguous and noncontiguous memory allocation. (08 NIarks)
With a neat figure exDlair, the working of address translation in noncontiguous memory
a Ilocat ion. (08 llarks)

6a.

b'.

OR
C ive the cctitparison betrr een paging and segmcntation. L ist the [unct ions
hardw'are.
cc:rside;the string0. 1.1.3.0. 1.2,3.0. 1.2,3.4.5,7.calculatethepagefairlts.
FIFCT and LI{t,paee replacement poticies w.ith a frame size 3.

1of 2
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(08 NIarks)
(08 NIarks)

(08 J\Iarks)

(08 Nlarks)

indirect naming in
(08 Marks)
(08 Marks)

7a.
b.

8a.
b.

Modulql[
Explain file sysrem and IOCS.
with a figure explain the r.vorking of liriked nllocation of clisk space.

OR
Gi'e the description ol'differer.rt fields in a typical directory entry.
Explain the w,orkins of fi!e action at close.

Module-S

Give the trvo ir-r-rportant issues in message passing. Explain direct and
message passing.
Explain ntaiiboxes. Give the advantages of mailboxes.

9a.

b.

10
OR:

llxplain the conditions {br resource deadlock.
Using deadlock detection argorithm for the foilowing exampre of system check.
deadlock exist in the sr stem or nor.

(08 N!arks)
r^,l:ether the

Allocated Resources Requested Resoui-ce,s

Free
reso urce

(08 Marks)

Rr Rz R:
P 2 I 0
P2 I J I

P; I I I

Pq I 2 2

Rr Rz Rr
Pr z I J
Pz I 4 0
P: 0 0 0
Pa I 0 2
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Fifth Semester B.E. Degree Ex-arnrittation, .Iune/July 2018

Object Oriented Programming using G++

Timc: 3 hrs. Max. N4arks: 80

Note: Anslver any FIVE full questions, choosing
ONE I'ull question from each module.

Nlodule-l

i1. Explain the structurc of C++ program. Write a program to find average of two numbers and

display the a.i'r-i'age value. (08 Marks)

b. Mention applications of C++ programming language" (0{ Nlarks)

c. Differcntiate betrveen structures and unions. (0'l Ntarks)

15EC562

(06 Marks)
perform acidition,

(06 Marks)
(04 Marks)

(06 NIarks)

(06 Marks)
(06 N'larks)

(0{ }Iarks)
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OR
2 a. Explain the memory management operators w'ith an erample.

$. What is srvitch statement? Write a program usins su'itch statement to
subtraction. mlr lt ip I icat ion and div is io n of operat ions.

c. [:xplain the working of "lbr" and "do-r'vhile'' loop nith syntax.

Module-2

a. Explain the call-by-value argument passitrg mechanism rvith aii exarnple.

What is function overloading? Write a program to find the sum of two numbers of type int,

float and double. Overloaded function name is "add( )" that takes two parameters of types.
(06 l\'larks)
(04 Nlarks)

OR
4 a. Why friend function is needed? Write a program to find mean value of two numbers using

(06 Ma$i)
b. Define class. Write the syntax for class declaration and member function declared outside

the class. (04 Marks)

c" Write a program to create clsrss called book, containing two data items "title" and "price"
and member functions are gel,Jata and printdata respectively. Using this class, display the

title of book and price ancl also write main program to declare object "b" and use member

f,unction of the class. (06 Marks)

Module-3

c. Write a prografr-tb find square of a number using inline function.

Explain the parametcrized constructor rvith an example'

Explain the copy constructor u,ith an exatrlple.
[,ist some of the special properties olthe corlstrllctor tirnction.

I of l
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6a.
b.

7a.
b.

a.

b.

C,

OR
Ilxplain the destructor function tvith an exa.rnple.
Dcfine operator overloading. writc' a pr.flrarr'l to add trvo comprex
' l-" operator.
Write a pro_qram for overloading unarv rninus.

]l otlu le-J

what is irrheritance? Erpiairr single inhcrirance r,r ith an exarnple.
Ilxplain multiple iniierilance u,ith an example.

l5EC562

(06 Marks)
ttumbcr h-r trr erloadirre

(06 IIarks)
(04 N,larks)

(08 [larks)
(08 l\Iarks)

(08 l\larks)
(08 1\larks)

(08 Marks)
(08 lVlarks)

9a.
b.

OR
Explaitl "this" pointer. Write a program to read two ob.iects ancl their respecti\,e data itemscontaining "name" and "age". Find the greatest age using "this" pointer. (0glIarks)

ll:l: rirtual lunction? Mentiort the rules of rirtual linction. wr.ite a pro_srarn lor rirtu."ilinclron. 
(0g 1!arks)

Module-5

Explain C++ stream classes used for I/O operations.
Explain the unformatted I/O operarions wiih syntax.

OR
Explain classes for file stream operations.
Explain ios format functions with syntax*

l0 a.

b.

**r({<*
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